NO

PART NO / DESCRIPTION

22

CYCSHTO15 3 Way Multi Batten Tie Rod

23

CYCSHTO013 Batten Tie Rod Nut

24

CYCYOKO002 3 Way Multi Batten Yoke

25

1200MET012 Yoke Spacer 8mm

26

PACMET002 Yoke locking disc

27

CYCMET002 Yoke Spacer

28

ACCPLAQO1 Side Lock Handle Knob

29

screw mbx 16

30

screw m5x 12

31

Flat Washer M8

32

Spring Washer M8

33

bolt M8 x 30

34

Bolt M10 x 25 Coach bolt

35

Flat Washer M10

36

Two Bar Locking Knob

37

M10 SS Wavey Washer

38|CYCPLAO11 Washer Red Fibre
39|Washer M5 Lock
40{Nut M5 Hex
23
Refer to 12ACCYC Acclaim Cyc
exploded drawing for individual parts
23
22
SELECON NEW ZEALAND, 19-21 KAWANA STREET, NORTHCOTE, TITLE SHEET 1 OF 1
AUCKLAND 1310, NEW ZEALAND. Ph 64 9 4810100, Fax 64 9 481010 H SCALE 1:5
i ¢ 12ACCYC3 Acclaim Cyc 3 oG S G

L _uL_§L_

www.seleconlight.com

S~ S

N3

DIMENSIONS IN SQUARE BRACKETS ARE IN
INCHES, ALL OTHERS ARE IN MILLIMETERS
UNLESS STATED OTHERWISE




